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1. Debbie enjoys singing in public. She is proud her beautiful voice.
(A)with (B)at (C)of (D)for
2. It is hard to remove the sticky chewing gum under the desk.
(A)find (B)found (Ofinding (D)to find
3. Steven did not feel the earthquake this morning. He at the time.
(A)slept (B)would sleep (C)has slept (D)was sleeping
4. Even though Nik said “sorry!” to me in person, I did not feel any in his apology.
(A)sincerity (B)liability (C)generosity (D)ability
5. My friend Jake is a typical . He still depends on his parents financially.
(A)male (B)parasite single (O)tourist (D)symptoms
6. All flights and trains were due to the typhoon.
(A)cancelling (B)cancel (C)have cancelled (D)cancelled
7. If we some interesting games in class, there will be more fun in learning English.
(A)will play (B)played (O)play (D)playing
8. They were from the long flight, so they ordered in for dinner.
(A)exhausted (B)worried (C)astonished (D)frightened
9. Tai Tzu-Ying is a tennis player; she has more fans than any other players.
(A)obnoxious (B)popular (C)picky (D)noisy
10. It is to buy an expensive car when you cannot even get a driver’s license.
(A)vigorous (B)interesting (C)obstinate (D)absurd
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11. Passengers who are above the age of 12 are required to purchase tickets.

(A)children (B)disabled (C)regular (D)early bird

12. To teach children right wrong, some parents will reward their children when they behave well
and punish them when they misbehave.
(A)from (B)to (C)of (D)with

13. Tom argued with the waitress because his reservation was cancelled without any reason.
(A)politely (B)furiously (C)obediently (D)formally

14.1 a shower when the light went off.
(A)took (B)have taken (C)am taking (D)was taking

15. TikTok is popular social media app of the year so far.
(A)more (B)the most (C)the more (D)most

16. As we are not for this matter, let’s vote on it.
(A)unanimous (B)uproarious (C)fabulous (D)precious

17. Study shows that cyberbullying can be more harmful traditional bullying.
(A)for (B)as (C)than (D)to

18. Tens of thousands of people gathered to witness Taipei’s annual New Year’s Eve countdown party
outside Taipei City Hall, 16,000 fireworks were set off atop the iconic Taipei 101 skyscraper.
(A)who (B)what (C)why (D)where

19. You were not to lend Wilson money. He never gives back what he borrows.
(A)crazy (B)wise (C)stupid (D)unfriendly

20.The issue of evironmental protection has not received much until very seriously.
(A)attention (B)detection (C)promotion (D)predition
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